An observer on the tip of their light
cone observing a second observer A
on the tip of their lightcone.

The first observer “sees” the second observer on their past
light cone by receiving a photon of energy.

The second observer cannot be here

when the photon arrives. There is no First observer
spacetime “here” for them to exist in. di =0
/
| / I
For the second observer the first 4 A photon on the.ﬂrst
observer does not exist in their ‘ observers past light
Minkowski Universe. Time has cone

not proceeded past the tip of the
second observer’s light cone.
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